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Le 6 mai 2007, les Français ont 
élu un nouveau président de la 
République : Nicolas Sarkozy. 
Le 17 juin 2007, son parti, 
l’UMP, remportait la majorité 
lors des élections législatives. 
Lors de ces deux campagnes 
électorales, Nicolas Sarkozy et 
son premier ministre François 
Fillon ont mis en avant un large 
programme de réformes qui 
touchait à énormément de 
domaines socio-économiques 
(réformes des retraites, du 
marché du travail, des 
politiques d’immigration, 
révision de la fiscalité…). La 
Belgique peut-elle s’inspirer des 
réformes françaises ? 

�

����������������������������
(�
�����(�
�����(�
�����(�
���������
)����*�+�������
+�����
���
�

�

�

�



 



���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�

��� ���������� ������ ��� )������ ��� ���
�����	
�� ������ ���� 
��	
������
���������	
��� ����� ����
�����
�������	
��� ,�
��
������� ��
����� ���� ����
�'���� ��� ������	
����
��� ��-������ ��� �����������
���� ����������� ���
��� ����������� ����
������������ ���
��������������� ����� �����
�
����� ��� ��.���� 	
��
��
������ ����� ��������	
��
	
�� ��� )������� ���
�����	
�� ��� ����� �����
��'���������������������
�

'���� ���������� ���� ���� ���������
������������������/����������
$��������������������������������)������
����� ������������ ������ �
� ���������
������
���������� +�� ������� ���������� ���
��� �������� ���� 
����������� �
� ����
������	
��� ��� �������� ���
����������� 0���
�������� ���
����� ��������� ��
��������
��������� �������������� ��
�� ������� ���
�� �������������������� ������$�����������
�������	
��	
����
��� ����������
�


� ��������� ��� ���� � 	
�
�
��������

�
���)������� ������ ��������	
��� ����� �����
%�������������#�
����������.�������������
��� ����������������� 1����� ��� 2�����.���
��������� ��� ��!��������� �
�
3������������� ��� ��� ��������������
�
�� ������'���������)�������������������
� #�������4������������	
�������������������
���$56�������67879�����)����������������
��� :7;� ���� ���������� �
��������� ���� ���
�������������<"������
�
����������� ������ �������� ����� ��� �� ���
������������� ���� ��� 0����� !������	
��
������������,�������/
�����$�������������
%� ������ ��� ����������� 
��� ���������
����������� ���� ���	� ������������� ��� ���

������ ����� ���� �
�������� =� �������
�>�������������� �
� �?
�� ��� �>������

�����
���� 
��� �����
��� ����� ������� 
��
������� %� �>�����
��
���
���	
���������
�����������
������������� �
�
�������������� �
�� ���
�
� �� ��� �
 ���� ���
�����
����� 
���
������	
�� �>��
������� %�
�>��������� ��� �
�
�������������� �
�� ����
!�����������%����0������
,������� 1��@�&"� ������
������� %� ����������

������������� ��������	
�� ���� ���������
���������� %� ���������� ������������ ���
��
������� ��������� ��� %� ��
 ���� ���
���������� �������	
�� 4���������� ���� 
���
��������� ���� ��&� %� ������ ��� ������ ��� �
�
��� ���9�� ��� )������ ��
�� �����
��� ����
	
����������������������$56�������6787��
A�� ������"���� ��������� ���� ��� )������
���� ��� ������������� ��� ����������
�
�������� 	
�� ������� ��� ����
���� ���
���������������������#������
�$56��
�
!�� ��� 	
�� ��������� ���������� �
���������
���� ����������  ������ ��� ����������� ����� %�
��� ����� ��.�� ����������� ��.�� ����������� ���
���������� ������ ����
�� ������ ���� ��
��
��"�� ���� ��
����������������� ��������%�
���������� �
�������� =� ����	
�� B7;� ���
���������� �������	
�� ���������� ����
���������� �
�������:�� ������ 	
�� ��
�� ���
�����	
�� ������ ����� ���� ���������� 88;��
2'��� ����� ������� 
��� �����������
����������� ������ ���� ��
�� ��"��� ��� �����
������ ���� ������ 	
�� ��
�� ��������
���������� ������� �
� �������� ��� �'��� ���
���	
����������� ��
������������
��
��������
���	
���������������� ���
�:��
�
0�
�� ���������� ��� �����	
�� ��� ��� )������
��� ����� ������ �������� ���� ��������
���������������������
������� #
�	
�%� ���
"� �� ��
�� ,������� 1��@�&"� �� ��
#�
���

���������	
������

�	��
������

	�������������������
�����	���	���������
�������������

���	�������
����
��������������

:��1�
���=�!�������
�
�������������)�������
�

�����������������
2������6C�����677D��

�



 
!

���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�

���������� ���� ������������ �
� �
��������
��� ��� ��
���
�
��
���������� ��������� ��
�'��� �������� ���
���������� ��
�� ������
��
�
�������� ��� ������.���
���������������)����������

�� ��"�� ��.�� �������� %�
���� ����������� ��� %� ���
�������� ��� ��� ���
����
!���� ����� ������� ����
������������ �
� ����������
���<"����� �����
�������
�������	
�� "� ���� ��.�� ���������� �����
���������� ��� ������ �������	
��

���������� ��
�� ��
��� 0�
������� �'���
����� ��� ������� ��� ������� �
� �
��������
�������������	
�������)��������������� ���
����� �
� ������������ ��� �������� �
��
�����������
����������
����������������#����
��� ��&� %� ������ ��� ������� ��
�� ���
����������� ���� �������������
��������	
�� ��� ��� ��
������� ��� ���������
���������� ��� ���������	
�� ���� �������� �
�
�
���������
�
�������	
�����
��	
��
����	�������� ��	��

	�������� 
�� ��� !������� "�� ����	
���� ����
��	������������������������������������	���
�����	�� ��� ���������� 
��� ����������
������	���� #������ ������ $%&'� ��� $%$'���
(�� � ��	�� ����	�� ���	���� )� ��� �������
��������
���������	��	��������	���������
�����	���
����
��������
��� � �	�� ���
�������	���� 
�� ��� ����	
���
���� ����� ��*����� ��� ���� ������� ����
�����	���������� ���#����� 	������	���
��	�
��� ��� ������ 
�� �������	�� ������	���

����	�� ����� ���������� ���� ���� ������
�������� +����� ��� (���	��	��� "����	��
$%,%�� 
��	�� ����	�� 	�����	#��� 
�� ��
�	���

��,%-�������	��	����
��(.$�
�	�	�$%,%�
����� ��� ������	��$�� ��� �������� 
�� ���
(���	��	���"����	��$%,%���������������
�����������������	���
�������	�	���������
��� ��� �	�
��� /	��������0� ����� ��� ����	
���

�� ��	�� ��� 
����
����� �������	
���
����������
�������
��'%-���
���� �����	������� 
�� ��� ������� ��1��	���

����������������
����	���������	������������
�����
� ����� ���������� ���

����� 
������	���	��� 
��
�����	���� ����������
������	���,�� (����
�����
������
��	�	������#��������

	����� ���� 
��� ���	���
#�
����	���� 
�� ������
������ 
������ ���	�	
���
�������	
��� 
�� �����
������� +����� ���
������	
��� 
�2����

��������� ������ ���� ����	�� 
��� #����	����

�

E� ���
�:E� ���
�:E� ���
�:E� ���
�:����=����������
��
��������������������
������=����������
��
��������������������
������=����������
��
��������������������
������=����������
��
��������������������
������
���������������5$3!���������������5$3!���������������5$3!���������������5$3!����

��

0�
������������
�>�������������>��������

�
��������

!������ 34�&-�

1����	
��� 8D�C;�
����	
��� '5�5-�

1
.��� FC�F;�
1
������ F7�C;�
$������
�1
�� GB�H;�
/������� GB�G;�
I������ GF�6;�
J��
 ��	
��E��.	
�� G:�8;�
)�������� 6B�F;�
���������� 6D;�
!������� :H�B;�
J�"�
��
A��� :H�8;�
!����
A���� :H�F;�
$������ :8�C;�
2���	
�� F�D;�
0�"�
���� G�:;�
�� ��

2�"�����5$3!� 6G�:;�
1�
����=����������
�������������
���������677D�

�

��������	�	���
����6�	����������

��	����������	#���


������	�	���
������	������

���	�������������

:��J�������������
$����������!�������

67G7�=������
�>��!����"�
$����������E�*�����
67G7��:H�I
���677D�

4����=KK***���67G7� �K
�
 ���K���
�����L�
 �K
$!67G7;67J�����L)+,

�������9��
6��1�
���=�5����������

��������������
�
����������2��������

��
���M������� ���
�����	
���G���N��677D��

�



 
"

���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�

����	��� ��� 
������������� 
������	��
��������	�����7���8��
���
�������	����	��9�
���� 
��	�	��� 
�� ��	��	���� ��� ����	
���
������	�� ��������������� ����	���� 
�� ������
���	�
�� 
�� �����	��	��� ����� ������ 	�� 9�
������	�	������� ���������	����:������������
��� �����	��� �	���� ��� ������	��� ����� ���

���������� ��� ��� ����	
��� ������	��

��	
���
�;����	�� ������������� �	�	���� ����
��	��	���� 
�� ��<� 9� ������ 
�� ������� ���
���	�	��� ����6�	��� ����� ������� 
��	�� ����
����	#��� 
�� ����	�	��� ������	��� ���
���	����������� ����
��	� ��� ���� ��	����
������	���	�	��	���)�
�
!� #���������� �� ������������ ���

��	�$�����������
�
$����� ��� �����	
��� ��� )������ ���� 
��
��"�� ��������������� 1����� ��5$3!�� ��
��
��� :7;� ��� ��� ���
������� ��� ���� ��
��
��"�� ���� ���� %� ������������
2����
��
�������� �������������� ����
��������� ������ ���� ��
#�
��� �
� �����&

��
��� 0�
�� ��� )������� ��+,1!!� 4+�����
��
,�������� ��� ��� 1�������	
�� ��� ���� O�
����
O������	
��9�������
���	
�������-�����
������ ���� ���������� ���
��� ���
�������������� ���� ��� ��.�� ��� :B;� ������
	
���� ������ 	
�� ���������� H;� ��
�� ����
���
���������� !�� ��� ����� ����� � ����������
���� ��������������� ���� ��"�� ��� ��A�����
!
���������� ������
�����������������������
���� ��������� ����� ����� ����������� ����
��
�� �������� %� ��� ��
������ ��� �
�
��-������3����
�����
#�
����������
��+,1!!��FB;���������������������������
����-��� ������� 6G;� ��
�� ���� ���

���������� !�� �����	
��� ��� ���
������ ����
��
�� �
����� ��	
��������� 1����� ��� 10)�
!��������� ���� ���������� �������������
B�G;� ��� ��� ���
������� ��������� ���
�����	
�� ����� ��.�� ��� GF;� ��� ���
���
��������
���-�������
�
�������������� �������
�����
������
��
���
��
�� ���� ����������� ������� ��� ��� ������	
��

��� ��������������� ��� )������ �� ����� 
��
������ ������	
�� ����� ��� ������� 
��
������.��� ������ ��� P��+������������ ���
��+�����������������+��������,�������������
�
$����������������� $�� �
���
������.���
��
��
���	
������ #�������=��

- ����������������
�������������Q�
- ����
�������������������������Q�
- ������������������������Q�
- �����
����������������������������

1����� ������ /������
��� ��� ��������� ���
������������������������� ����������������
������ 
�� ������������ ����� ���� ��"��
���������� �
�� 
��� �������� ���������� ����
��
���������������1����� �
��� ��� ��
��R�������
���� �� ������� ���� ��"�� �
� 1
�� %� ������
���
�����&��
��	
���
������������
���S�� +��
��
�� ����� ����������� �
� ��������������
���� ��"�� ���������� ���� ���������� !�� ���
	
�������������������������P����������R����
)������ ��
������ ���
������� ���&� ����� ����
��
������������������������	
���������	
��
��
��������������
������������%���
����"��
��������������������������������� ��������

������ �
� �������������� S�� +�� ��������
���������� �������������� ��
��� ���� 	
��
�����
���������R������������������������S��
��������� ��� ��� T����� $���� ������������
����� 
�����
����������������
���� ���
���
����� %� ����������� ������������� �
� ����� ���
���� ������������ ��� ��� ���� ��������� ���
������ �������������� ��� �
�� ��� �
�
��"��������� ��� ��� )������ ��� �
�
�������������� �
� ��"�� ����� ��� ����
������������ +�� ���� ���������� ����
� ���
�
����� ������� �����������������������������
	
����������������	
������������� ��������
)��������������������������� ��� ����
�����
�������������������������������������������
�
� �����
������� ��������� �������
���������� �
������� !�� ��������� ��!����
��������� %� ���������� ��� ����������
����
������� ��� ��� ���������� �
� ��������
��
������������
���������
����������������
$��� �����.���� ������������� ������ ����
�����������������
�%���
��������������
����#	�	��� ����6�	��� ������� 
�� 
�
�	���
���	�� �������	���� ������	������ 
�	� �����



 
%

���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�


�������	��� ����� ��� ����	
��� 
�	�� �����
������ ��� !������� ���� ��� ��;�� 
������	��
�=� ��	�������	��� 
��� ������� ����������

�	��	������� ������������	������	�������
�� "�� ������� ��� �	�	��>���
	�������� ��� !������ �� ��	��

�� ��	��	����	��� ���
��	�������	��� ���� ���	��#���
��	��	��� ���	������ 
�	�
��#	�	������������#��������
���� �����	��� ���
�����������������������
����	��	����	����������	���
9� ��	�������	��� �	�� ����
���	�	
��� ���������� ���
�����	����� 
�� ��	
���	���
���	������ 
�	� ��������� ���
��;�� 
������	�� ������
�������	��#����������������	��9��	�������9�

�	������
�� ��� !������ ���� �����	����� 
�� ����	�	��� ���
��	���������� ������	
��� ������	�����
��	��	����	���� 9� ��� ��	�� ����� ��� ��;��

������	������
���	��
������� 	
���������
�����	��
����	���
�?������
���	�	���
����
�����	��� ���������� ��� ����� ��� ��;��

���	�	���� ��� ���
��� 
�� �������� ��� 
��

�������������� "���������
�������������
���	�	
������	�������	�	������������	����	��9�
�	�� 
�� ��	��	����	��� ������	
����
�������������� ���� ���	�	
��� ����� ��������
���
�������������
����������;��
���	�	���
��� ��	���� ��� �	������ 
��� ����������
�������� ��������	
���
�� ��	��	����	���
���� ����	����� ���� ��� �����	��	��� 
��
������������� ���	�	��� ������ ��������
�	�����	����
�

"� &����� ����� �
� 	����
	����������
�� �� �'�������
�������������	�����������

�
���� ���������� ��� ��������� ���� ���������
���
U���� ����� 
�� �������� ������
��.�������
���������� �
�� "�
�� ���� )�������� ��� ����
�������� ,����� ������������ ������� =�
������������ ��� ���� �
������� ��� ���

����������  ������� 2������ ����
 �
�������������� ���� ������������
�������� %� ������ �
� ��� ��������������
����������� ������ 	
�� ��� ������� %� ���

��������� ��� ��� �����������
�
�  � "
 ���� ���������
%�������������
������
������
������ ���������
��� ������������ �����
%

����� ��� ��� ��� �>���������
��� C8� ���� ��� ��
�� �������
���� ��� ���
������� �������
�������� ���� ��� GC;� ���
)������� +�� "� �� �����
�������� G� ������� ��
�� 
��
����������!��6767�����������
��������%���.�����6��������
��
�� 
�� ���������� ���

���
������ ���� ���������� ����� ������ ��"�F��
��� ��
�� ��������� ���� � ���������
��� U����
488
CF����9�������������������
�������
�
 ��
��
���������� ��������������
����"��
=� G6;� ��� �����	
�� ��� 677C� ��� ��������
GB;����)���������������
�����FG;������
��A����� !
��������8�� ��A�����
!
��������� �� ����� 
�� � #������ ��� 87;�
��
�� ��� ��
�� ��������� ���� 88
CF� �����
���
��������� ��� �����	
�� ���
��� 
���
�������:B;�������������%������ #������������
��������687�777�������C���
+�� ���� ����� ���������� ��� ��� ���������

��� ������ �
�� ���������
��� U���� �
�� ���
������� �
� ��������� 0�
�� ��� ������� ���
��
���������� ��������� �������� ���
������
��� �
�� ��� ������� ���� ���������
)������ ��� 677G�� ��� ��
���������� �� ���
������ ����
� ��� ���������� ���� �������������
�
�P0���������������������������������
��0���������������������������������
��0���������������������������������
��0���������������������������������
��
��������� ���� �������� 677C��������� ���� �������� 677C��������� ���� �������� 677C��������� ���� �������� 677C



67:767:767:767:7�D�
������� ���� ��� ��
���������� �����������
$�� ����� ��������� G:� �������� ��
��
���������� ��� ��
�� ��������� ���� ���������
�������������������������������������������
����������:��
�
3���� ������������� ������ ������ �"���� ���
���
����� 7���	>�������� ���� ���
����
��������� 	
�� �������� �
� ����� ����

�����!��������
��������������
���	�	
������	����

���	�	������
������	���


�	��	����	���
������	
������

F��1�
����=�5$3!��
8��1�
����=�!
��������

C��3��V���2���<�������
I���3�
������
��������

��������������
���
���
������
����������
�����

��������
���������
 ������+������������
��
��
��,�*�3������
��
�����������������	
���
+�������+�����
������N��

677D��
D��������������������
��

'��������
����%�������
��������=�

����=KK***�����������
��
��K+2TK���K0���L������
��L�L������L��������L�
�
�L�L������L���L�����

��L677C
67:7
6������

�



 
(

���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�

������������� %� ���������� ��� ������������ ���
��� ������������� ��� ������� ������
������������ ���� ���������
��� U����
�����
����������
����������
��������� ���
�������� ���� ��� ���������� ��
�� ����
���������
��� ������ ��������������
:���	>�������� �������
���� ��� �������� =�
���� ����������� ��� �������� ������� ����
��� ������ ��
�� ����������� ���� �����.����
���� ���������
��� U���� ���������� ���� ���
�� ������ ������ ������������ ��� 	
��
������������ �
�� ���������
���U���� ���������
��� ��� �����
���� �
� ��-����� ��� ���� ���
�����.�������	
��������������
���������������
�
���������
����������@��	�	>������������
������������� �������� �������������� ���
���� ��� �����.���� $��� ���
����
������������ ���������� ��� ������

�������� ������ 	
�� ������������ �
��
���������
��� ������������� �
� ������ �� ���
�
����� ���� ������� ��� ������ ��������� ��
��
���������� 
������
������� ��� �����
�����
����������� ��� ��� �����
� ��� ���
������� $��
����� �������� ���������� ��� ����� ������
��
�� ���� ��
�������������
�
�����������
�����������������������������������������
��
���� ������������� ����� 
��� �
�����������
��
���������������������������� 
������
��� ��������� ���� ���������
��� U���� �
�� ���
������� �
� �������� ������ ���� ��� ��
�� �����
����� ���� ������
����� ����������	
���
���������������������
�������������������
��� �.��� ��� ��� ����������� ����
���������� U����� ��� ��� ��
�� 	
������ ���
����� ,������� 1��@�&"� �� �������� 	
����
����������#�
����
������	
�.��� �������%����	
�.��� �������%����	
�.��� �������%����	
�.��� �������%�
��� 1��
����� ���������� 1��
����� ���������� 1��
����� ���������� 1��
����� �������BBBB=� ���  �������
P������������ 4���� �
�����  �������� �����
P����������P������������W������������P���������
��� P����
��������9� ����
������������.����
������������� ������ ����� ��� ����� ����
��������
������ ��
��� ���������� ���������
�
�� ���� ������������ ��� ���� �����������
�������������
�� ���������
���������� �
����
����������������������&��������
A������� 	
���� ��� ����	
��� ���������� �	����

�� ���� ��������� ����6�	���)� ���

������� 	�� � ������ 	�� ���� 
����

�������	��� 
�� ���
������ ����
���� ������
������ ��� ���� ����� ���� 
���� ��;��� ���
�����	��� ���	���� ���� ���������� �	�������
���� ��� �������	��� ���	��� ��� 
���	��
���
���� ��� 
��� ��� ���	�	��� ������	
���

������	�������������
�����������B�������9�
��� ��	�� ����� ����#��� 
�� ��	����	�� ����
�����	�������C��������������� ��
�������	��
��� 
�� ����
��� ��	��� 
��� ���	���� 	����	���

�	� �������
������������������#������ ���
������������� ��������	��� ��������� ���� ���
#	�	��
��7�����
���D������	��������������
�	��� 9� ���	���� ���� 	��	������ �	����	���� ���
������� 
��� �����	���� ���	�	����� ��� 9�
���������� ��	��	����� �	����	��� �����
�����	���������������������(������������E��
��>�� ��
����� ����� ��� ��#	�	���	���
��������� 
�� ��� !������ ��� �������� 
���
�����	��� ���	����� +	� ��� ����	
��� �����
� ������ ��� �����
��� �����	�������C���������

��������������������!�������
����������
�������������������������	���������������
���� �� 
�� �����	�� ����� ���� ���	����� ���
����	
��� ��� ����� ����	�� #���	�� 
�����
������ �� ������������� 
�	� ��#	�	��� �����
�����������F��
�

B��1�
����=�,�������
1��@�&"���������
��
�������&�����������

2������6���N��677D��
H��3��V���2���<�������
I���3�
������
��������

��������������
���
���
������
����������
�����

��������
���������
 ������+������������
��
��
��,�*�3������
��
�����������������	
���
+�������+�����
������N��

677D��

�



 
)

���������
����
�������������	����������	���
���������������������

 

  

 

�

�

�

Encadré 1 : Le plan national d’action concerté pour l’emploi des seniors 

2006-2010 

 
Voici les 31 actions et les 5 objectifs posés par le gouvernement français 
précédent afin d’améliorer le taux d’emplois des seniors et de renforcer leur 
position sur le marché du travail. Il a pour but d’augmenter le taux d’emploi 
des 55-64 ans de 2 points par an afin d’atteindre un taux de 50% à l’horizon 
2010. 
 
Objectif 1 : Faire évoluer les représentations socioculturelles. 

Action n°1 : Informer un large public sur les atouts de l’expérience des seniors. 
Action n°2 : Sensibiliser les entreprises à la gestion des âges, à l’accès ou au 
maintien dans l’emploi des seniors. 
Action n°3 : Renforcer et mieux coordonner l’observation, notamment des 
bonnes pratiques, en matière d’emploi des seniors. 
Action n°4 : Mobiliser l’ensemble des acteurs de la recherche sur l’enjeu de 
l’âge au travail. 
 
Objectif 2 : Favoriser le maintien dans l’emploi des seniors. 

Action n°5 : Généraliser la pratique des entretiens de deuxième partie de 
carrière et des bilans de compétences. 
Action n°6 : Développer les nouveaux outils de la formation professionnelle à 
destination des seniors. 
Action n°7 : Déployer une politique contractuelle favorable aux seniors. 
Action n°8 : Accompagner et amplifier le développement des accords de 
gestion prévisionnelle des emplois et des compétences, en particulier dans les 
petites et moyennes entreprises. 
Action n°9 : Améliorer les outils de pilotage de la politique de formation 
professionnelle. 
Action n°10 : Limiter le recours aux cessations totales anticipées d’activité. 
Action n°11 : Mettre un terme aux accords abaissant l’âge de mise à la retraite 
d’office. 
Action n°12 : Développer les actions de prévention pour faciliter le maintien en 
activité des seniors. 
Action n°13 : Réorienter le fonds pour l’amélioration des conditions de travail 
vers les actions traitant de la gestion des âges. 
Action n°14 : Mobiliser le réseau de l’Agence nationale pour l’amélioration des 
conditions de travail. 
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Encadré 1 : Le plan national d’action concerté pour l’emploi des 

seniors 2006-2010 

 

Voici les 31 actions et les 5 objectifs posés par le gouvernement français 
précédent afin d’améliorer le taux d’emplois des seniors et de renforcer leur 
position sur le marché du travail. Il a pour but d’augmenter le taux d’emploi 
des 55-64 ans de 2 points par an afin d’atteindre un taux de 50% à l’horizon 
2010. 
 
Objectif 1 : Faire évoluer les représentations socioculturelles. 

Action n°1 : Informer un large public sur les atouts de l’expérience des seniors. 
Action n°2 : Sensibiliser les entreprises à la gestion des âges, à l’accès ou au 
maintien dans l’emploi des seniors. 
Action n°3 : Renforcer et mieux coordonner l’observation, notamment des 
bonnes pratiques, en matière d’emploi des seniors. 
Action n°4 : Mobiliser l’ensemble des acteurs de la recherche sur l’enjeu de 
l’âge au travail. 
 
Objectif 2 : Favoriser le maintien dans l’emploi des seniors. 

Action n°5 : Généraliser la pratique des entretiens de deuxième partie de 
carrière et des bilans de compétences. 
Action n°6 : Développer les nouveaux outils de la formation professionnelle à 
destination des seniors. 
Action n°7 : Déployer une politique contractuelle favorable aux seniors. 
Action n°8 : Accompagner et amplifier le développement des accords de 
gestion prévisionnelle des emplois et des compétences, en particulier dans les 
petites et moyennes entreprises. 
Action n°9 : Améliorer les outils de pilotage de la politique de formation 
professionnelle. 
Action n°10 : Limiter le recours aux cessations totales anticipées d’activité. 
Action n°11 : Mettre un terme aux accords abaissant l’âge de mise à la retraite 
d’office. 
Action n°12 : Développer les actions de prévention pour faciliter le maintien en  

Objectif 3 : Favoriser le retour à l’emploi des seniors. 

Action n°15 : Accroître l’offre de service de l’Agence nationale pour l’emploi 
(ANPE) en direction des seniors. 
Action n°16 : Développer l’offre de service du service public de l’emploi en 
matière de qualification professionnelle. 
Action n°17 : Mobiliser les contrats aidés, en particulier le contrat initiative 
emploi, en faveur de l’emploi des seniors. 
Action n°18 : Refuser la discrimination par l’âge lors du recrutement. 
Action n°19 : Supprimer les freins à l’emploi liés à la contribution Delalande 
(cotisation versée par les employeurs à l’occasion d’une rupture de contrat de 
travail de salariés âgés de plus de 50 ans). 
Action n°20 : Adapter le recours aux contrats à durée déterminée à partir de 57 
ans. 
Action n°21 : Encourager la création et la reprise d’entreprise. 
Action n°22 : Développer les nouvelles formes d’emploi. 
Action n°23 : Renforcer l’aide dégressive à l’employeur pour l’embauche de 
demandeurs d’emploi de plus de 50 ans. 
Action n°24 : Mettre en place des mécanismes d’intéressement à la reprise 
d’activité favorables pour les demandeurs d’emploi de plus de 50 ans. 
 
Objectif 4 : Aménager les fins de carrière. 

Action n°25 : Développer la pratique du tutorat dans l’entreprise. 
Action n°26 : Anticiper le déroulement de la fin de carrière. 
Action n°27 : Passer à temps partiel tout en continuant à cotiser pleinement 
pour la retraite. 
Action n°28 : Utiliser le compte épargne temps pour aménager la fin de 
carrière. 
Action n°29 : Promouvoir la retraite progressive. 
Action n°30 : Renforcer le caractère incitatif de la surcote. 
Action n°31 : Elargir les possibilités de cumul emploi retraite pour les bas 
salaires. 
 
Objectif 5 : Assurer un suivi tripartite dans la durée. 
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Encadré 2 : La loi sur les 35 heures et ses effets 

 
La réforme des heures supplémentaire est intimement liée à la loi sur les 35 
heures. Cette loi, votée sous le gouvernement Jospin en 1999, fixe la durée du 
travail hebdomadaire à 35 heures. Cette mesure ne concerne pas les cadres et 
les professions libérales. La mise en place de cette loi dans les entreprises  a été 
particulièrement compliquée et ses effets discutés. 
Le journal Le Monde13, a consacré un dossier aux 35 heures, c’est l’occasion de 
faire le point sur les effets réels de la réduction du temps de travail. 
 
L’impact des 35 heures sur l’emploi, les finances publiques et la 

compétitivité 

L’impact réel des 35 heures sur l’emploi est incertain. Le chiffre de 350 000 
emplois créés entre 2000 et 2004 est avancé mais ce chiffre est assez faible par 
rapport à la main d’œuvre totale en France et l’apport direct des 35 heures 
inconnu. Selon l’INSEE, la France comptait environ 25 millions d’actifs 
occupés en 2004. Il s’agit donc d’une augmentation du taux d’emploi d’à peine 
1,5%. De plus la loi sur les 35 heures a rapidement été assouplie, il est donc 
impossible de mesurer les effets directs de la loi originelle. 
L’effet sur les finances publiques est lui aussi controversé. Selon certains 
économistes, chaque emploi créé  grâce aux 35 heures couterait 37 000 € ce qui 
est le double du prix des emplois créés grâce à d’autres mesures comme les 
emplois-jeunes ou les emplois créés grâce aux réductions de charge sur les bas-
salaires.  
Selon les économistes cités dans ce dossier du Monde, l’impact de la réduction 
du temps de travail sur la compétitivité est limité. 
 
La réduction du temps de travail et ses effets ambigus 

Les très petites entreprises (TPE) ont eu beaucoup de difficulté à organiser le 
temps de travail et à compenser le coût engendré par la loi. Elles ont bénéficié 
de mesures d’assouplissement et notamment d’une augmentation de leur 
quota d’heures supplémentaires. 
La réduction du temps de travail a également posé problème dans les hôpitaux 
qui ont été forcé à créer des nouveaux postes qui ont été très difficilement 
pourvu (10% n’était pas encore pourvu en 2004). 
En ce qui concerne la flexibilité, la réduction du temps de travail a créé une 
polarisation entre les entreprises pour lesquelles l’organisation des heures est 
plus favorables et celles pour lesquelles les coûts de la flexibilité sont difficiles à 
compenser. 
Un des autres contreparties des 35 heures a été l’augmentation des très petits 
contrats précaires pour « boucher les trous ». 
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Encadré 3 : Vieillissement et efficacité dans le secteur public 

 
Un récent rapport de l’OCDE intitulé ‘Vieillissement et service public’14 
analyse les conséquences du vieillissement des fonctionnaires au sein de 9 pays 
de l’OCDE dont la France. 
 
Selon l’OCDE, la Belgique compte actuellement 800 000 fonctionnaires ce qui 
représente 17% de la population active. En France, ils sont 5 000 000 soit prêt 
de 20% du marché du travail. La plupart des fonctionnaires bénéficient de 
régimes spéciaux, notamment en matière de prépension et sont nommés à vie. 
Cette situation nuit aux finances publiques dans un contexte de vieillissement 
de la population et plaide donc pour une diminution des effectifs. 
 
Le secteur public belge est âgé. C’est même le plus âgé de tout les pays de 
l’OCDE avec près de 45% de fonctionnaires fédéraux âgés de plus de 50 ans. 
C’est plus du double du reste du marché du travail. 
 

�
Source: OCDE, Ageing and the Public Service, 2007 

 
Le vieillissement n’est pas le seul problème qui guette le service public. Selon 
l’OCDE15, l’efficacité du service public laisse également à désirer. 
Selon l’OCDE, ce vieillissement du secteur public présente à la fois un fardeau 
fiscal qui inclut notamment le paiement des pensions des fonctionnaires âgés 
mais également une formidable opportunité stratégique. En effet, le départ 
massif à la retraite est une occasion de réduire l’emploi public et d’augmenter 
la productivité de ce secteur. Il y a donc là une opportunité à saisir. 

:F�����������������
0
 ����1��������5$3!��

677D�
:8��+���������0
 ����

1������!��������"=�
$��������������

5�����
��������5$3!�
I�
���������
���������

677D�

�



 
�"

���������
����
�������������	����������	���
���������������������

 

  

 

�
�
/�� � + � ������ +��� � �
 ��� � �� ��� � �������@�� � #@�� ���@���@� ��� ������@� ��� ��  ����� ��� � � #����&��� � ��� ������� ������� � ���� ���  ��������������� ����� �
*�����*� � ������ �@������� � � �� ������������������ � ��� � ���������

 �&����������������� ��� � ��� ���� �� ��� ����������� ������� �[����& � #�� ������ � � �

�

�
+�������+�����
���VZ(
�1���

��
���������������++������:BF��
��
:7B7���
�����
���
�������
E�\G6�6�F:6�76�C6�
�)�\G6�6�F:6�76�CH�

����]�������������
����������***��������������
�������
�
��+������� +�����
�������
�� ����@
���@���� ��
���@� ������������	
����

����
����� �

���%������������������	
�������� ������������ �������������� �������
���� �������'���
��
�������������������������������������	
���������������
���������������������	
�����
�����������������������
�� ������������	
�����������������������
�
V�����*�������#@��
��������
�!����
���������� ��=�2����3��V����3������
��
�
�
�
�

��� ��
���������� ��������� �� ��������
	
���� ��� ������������ ����
�
� ������������� ��
��
�������������� �
�� ��
��
���������%�������������4D7�
777����������.��677B����
����� G8� 777� ��� �������
���� ���������9�� ���
��
���������������������
���������� ���
� ����
������������ %� ���  ������
��� �������� �
�� ����
� #������ ��� ��
������ ����
'���� �������� ��� 677B� ���
	
���� ��� �������������
����
�����������������
��
������ �
� ���
� ���� ��
��
�����������������
�:C��
�
��� �����	
�� ����� ����� �� 
��� ������
�
 ��	
�� 	
�� ���.��� ���� BD;:D� �
� 0+���
����� 	
�� ���� ��� ��������� �����
������ ���
��
���������� ��������� �� ����������
�������� 	
�� ��� �������� �
 ���� ��
��
�������� 677D� ��������������� 6�8;� �
�
0+�:B� � ��� 	
�� ��� ������ �
 ��	
��
�����������������������CG�D;��
�0+���
�
��� ������������� #����� ����� ��	� ����	��
���������� 9� 
�� ���	��#���� 
��	��
#�
����	����� ���� ����	�	���� ��� ����� ����
���	�	����� ��� ���� �����	��	����
�������������������� ������������ �	�	����
#�
����	�����"������������#�
����#�����
��

$%%3���������������
��	�	��
��%�$-��+	����
����	
�����������������#���

�� ������� ��� ������
�����	���� ���������
������#���� 9� ������
������	�� ����� ��� �	�	�����
��� ��������	��� 
���

�������� ��#�	
����� �����

����	���	��������������	����
��
��� ���������� ����6�	��

�������� 
��� ��� 
��	�
#�
����	��� �����
����	��������� ����� �����
���� ���� ���	�	
���

�����	����	��� 
�� ���
���
���	�	��� 
���� ���

�������� ��#�	��� ��� �;���	
�� 
�C��� 
��
�������� ��#�	�� #����� ����� ����� ����
��������	��� 
�� ��
�	��� �������	� ��#�	�� ���

�����	����� ���� ���	���	��� ��� ���
�����
���� ���� ��� ������������� 
�����
�����	��� 
��� �����	����	���� �������� 9� ���
�����	���� B�� ����	�� 
����� �����	���
������	�������� ��.(:"� /��	�� ����
���,0��
7���� 
�� 5'-� 
�� ���� �����	����	���� ����
�����
��'%������(�����#�������������
���
���!������
�	���
��	
��
��������	���������
����	����������	���	������������
���	�	���
��
��������	�����#�	���
�

�������(�
������������(�
������������(�
������������(�
���������
)����*�+�������+�����
���

�������*�
�����]�������������
������
�

������
��	�
#�
����	��������
������������������

���	�	
���

�����	����	���
��
������
���	�	���

���������������

��#�	�����

:C��1�
���=������� ���
�������������������
�

�?
���
� 
�����677B��
���2������:���N��

677D�
:D��1�
����=�10)�

!���������02!��$�������
��"���������!�������

:B��1�
����=����
���
�������������������

�
 �����������������
��%�
��� ����������2������G�

#
������677D�

�


